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Teacher notes: HAsk students to £ind
answers o the division ?ae\sz‘/ons .
Give students a fec runutes o
work - even i£ puzzled. A hint o
3/\/3-‘ What's the anseer 2o 20 + 57
Ans=4. Ask ther why. The s £its
into" the 20 Four times. Once cued
with the " £its into’ idea, tell therr to
Find the solutions o the picture
proé/ems.
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.'D? {.ncimﬂ Fractions

| Find +he answers

Teac her notes: On this PAage, Zhe (ey point Is o
rmake Stre the Students wnderstand the anscoers

based on the viswa/ z‘maﬁes . You are Z‘ry/‘ng o make
2herr Feel 100% confident in the soleutions. Ths will

/73//9 Zo reinforce therr confidence in 2he division
retle which i1s Ae/‘ng estab/ished.
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+o +he &?[[Mlﬂﬁ division CLHES'h-JHE

gaF +he A FH'
red plece

into the

2 of the & At 1o the
Hu{ ﬁ}tt'.E

2 of the 4 Lt inbothe
ycllow piece

| whole blue plece and another
half of it fit intothe ced
PN

Only 5 of the @y is needed

{0 cover —l%a.___gfrem pieze

I you curt +he B | nto
pof-’r-'i 2.0f Hum fit 1nto
+Pu blwe A%

4 whole. 4% aﬂd aw-::%er ha'.F

of one £t inty the yellowd red.
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jDi ﬁldﬂ‘"ﬂ frac,l,‘mg

ﬁacher notes: %ere we sStart Co revisit the Frac -
ion notddion (based on ye_//oa_) ﬁexagon = 1 whole).
Be sure Zo change rixed Fractions Zo improper fors
as ¢his /73//95 Zher “ See f/7/‘n35 ) in the rnext \SZ‘ep.

Also reinforce a)/’ly answers are < _or 2 Zhan l.

| Find +he answers 1D +he \Cﬂlfawm_j divisioa clues‘hang

ot one £H1 inty the yellow: red.
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1 u c i L e [
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Pl
wh- Wl
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Teacher notes: You wart Students o notice that the r{s/ﬂ‘ hand denorinador ” ends wUp on top i
Zo 3&{ o 2he Final anscoers established via the concrete pfeCeS . A Aint coowld be Yo draco heilr
attention to the bottor /‘/5/7(‘ denonrt.
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[Fm& +he answers 1o +he Fo”ﬂwmij division queshong
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£ you cut +he S8 into
e Pc}r-}.‘.) 2. of Hupm fif 1nto

+he ble 48

4 whole. &8 and another half
ot one £t inty the yellow: red.
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Teacher notes: Now Show them that a consistent rule corks +for all 2 guestions
Zo go From the Fractions to the solutions 2hey knowo to be true From the concrete
pleces.

$iq prece ~ smallr piece  ans >

'Diir:dmg Frachons sraller prece - b;‘gju prece —ans <

(o ans <)
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Teacher note: Now that students have either constructed/derived Zhe 3orlz‘/7m or
¢had az‘ 2he least they See a concrete verification Lhat the redle works, we can give
| thenr” the rele and go Zhroag/y examples of its agpplication.
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